
 مبرهنة الإحاطة الثانية

 

|𝑓(𝑥) − 𝑙| ≤ 𝑔(𝑥) 

lim
𝑥→+∞

𝑔(𝑥) = 0 

lim
𝑥→+∞

𝑓(𝑥) = 𝑙 

 مثال:

 fلدينا التابع 

 x>0يحقق 

|𝑓(𝑥) − 2| ≤
3𝑥 + 1

𝑥2 + 5
 

 ∞+عندfاحسب نهاية 

 الحل:

𝑔(𝑥)نفرض التابع  =
3𝑥+1

𝑥2+5 
 

lim
𝑥→+∞

𝑔(𝑥) = 0
.

 



lim
𝑥→+∞

𝑓(𝑥) = 2 

 تمرين:

 x>0يحقق  fلدينا تابع 

|𝑓(𝑥) + 3| ≤ √𝑥 + 1 − √𝑥 

 ∞+عند fاحسب نهاية 

 الحل:

𝑔(𝑥) = √𝑥 + 1 − √𝑥 

∞+لدينا حالة عدم تعيين  − ∞ 

𝑔(𝑥) =
(√𝑥 + 1 − √𝑥)(√𝑥 + 1 + √𝑥)

√𝑥 + 1 + √𝑥
 

𝑔(𝑥) =
𝑥 + 1 − 𝑥

√𝑥 + 1 + √𝑥
 

𝑔(𝑥) =
1

√𝑥 + 1 + √𝑥
 

lim
𝑥→+∞

𝑔(𝑥) = 0 



lim
𝑥→+∞

𝑓(𝑥) = −3 

 g(x)لاتنسى أن التابع الأول هو 

 دعواتكن  


